EARAZROREIERT — 2 N—XBISY —F 2012538118 (H) 21@{x&E2H

BB 3m— 2% 5% 3% ‘ ] 2 ‘ [ErmE] — | 4 (&) 14000 &

[AE4£] 1% :230,000” ~ 2#%:53,000” ~ 3#%&:21,000 ™ . 43%&:12,000 M 53 :7,000 H

B ®RBE mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

1 g\ F¥FNAT4=2 # 3 5%&&—&5 1;(3_0),7 8-8-6-1 [39.4| — | 3 | 415 ggig (%)
L)h—> B:Tru4Y -2 LEHS

2 o [ RU—ZXT R # 3 glifgﬁk 1:(310).9 1-1-1-2 |40.0| — | 2 | 469 éﬁg (%)
R:¥rindO— BNZRRv— (43) pail=:Eae]

3 6l RTRLY # 3 SEE%OIW 1:(331).5 554-3 [40.3| — | 1 | 520 fg:;cg (1E%)
LA agR-5— B:UTL (+18) FRT 7 — L

sl | 773248 f 3 | BEEC (1 2312/20) 4-3-6-4 [40.8| — | 8 | 437 gg%g (EH)
L:TANVRTy Y1 BIXMNIUTH Y © [iEte ]

5 3| I-YrEa1-F1 i3 sﬂi%gﬁ 1(732t§) 7-7-8-7 | 40.1| — 4 | 449 ;E?;?i (1£%)
Qid—WKFPYa— B:¥aqfyT (-4) X6

6lsls|EbTLAv— > 3 gtsi_%%ﬁ?fxﬂﬁ (11:312/.23) 6-6-7-5 |40.8| — 6 419 iggg; (#£%8)
R:NTIHLTIA— B:OREY3 Y (43) LERS

7177 | RFAX=F I f 3 | AEAX (11312/26) 9-9-9-9 [40.5| — | 5 | 449 %ﬁiigi‘f%)
R:TFLRRTFAvITA N BT I—ILIL | ks

glglo| 3x%K51 2% i 3 E%ﬂléiﬁ (1 2:313/.21) 3-4-3-6 |42.0| — 9 444 %/J&@gi)\ (t£8)
R:xF v BSTIHLISLR ) = %

S _ 3 3 | BEREE 1:33.6 2-2-2-8 |42.6| — 7 430 | EHESE (ER)

9|8|8|” ¥/ ¥A=% 54.0 @ 1/2) (ha) | AT

77075 BYVIHhYTH MRS IUFLTr—L4

@ 11— —EBIRfL

13—+— |2,8,9,1,6,5,3,4,7

23—7+— |2,8,1,9,6,5,3,4,7

33—7— |2,8,9,6,4,1,53,7

43—7+— |4,2,6,1,5,9,3,8,7

[ RN

-y 4 800 | | 71 K 2-4 270 | | # = 2-4 1,050/ | | 3:&=4& 2-4-6 570

7 B 4 200/ 4-6 350 | | B &= 2-4 970M | | HEH 4-2-6 5,420
2 110M 2-6 200 | | BB H 4-2 1,750/
6 110

ABICOVWTRDTEEERROODE. TR LIV,



